IITPAL — SWAYAM

@ JEE Main 2020 (Online) 3rd September Evening Slot
MCQ (Single Correct Answer)
Let R1 and Rz be two relation defined as follows :

Ry = {Ca, b) €R? : a2 + b? € Q} and

Rz = {Ca, b) € R? : a? + b? ¢ Q},

where Q is the set of all rational numbers. Then :

o Neither Ry nor R; is transitive.

e Rz is transitive but Ry is not transitive.
@ Ry and R; are both transitive.

@ Ry is transitive but R; is not transitive.

Explanation

For Ry :

Leta=1+\/5,b 1—\/E,c=8f

aRib : a2 + b2 =6 €Q
bRic : b2 + 2 =3 - 2y2+2y2=3 €Q
aRic : a2 +c2=3+2/2+202¢0Q

.. Ry 1s not transitive.

For Rz :

Leta=1+w/§,b=w/2,c=1—w/§

arRzb : a? + b? = 2\/E¢Q
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bRzc : b? + 2 —2\/E¢Q
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aRzc : a? +c2=3+2¥2+3-2/2=6€Q

. Rz is not transitive.

Again diferent types of .relations definition is used to solve this question.



